wil R

Multiplique decimais por poténcias negativas de dez

Nome:

9685, 3 x 0.0001 =

4147, 2 x 0.0001 =

5502,6 x 0.01 =

7127,7 % 0.01 =

8639, 7 % 0.0001 =

3342,9 x 0.1 =

7961 x 0.001 =

9890, 1 x 0.01 =

3466, 2 x 0.0001 =

1572,1 x 0.001 =

Encontro: Data:

4480,4 < 0.1 =

4133,3 x0.1 =

1840,2 x 0.01 =

Pontuagao:

5012,9 x 0.01 =

6759,9 x 0.0001 =

7664, 9 x 0.001 =

6954,2 x 0.01 =

4461,7 % 0.01 =

1483, 1 x 0.0001 =

2235,9x0.1 =
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* w a @ @f/ Multiplique decimais por poténcias negativas de dez

Nome: Encontro: Data: Pontuagio:
9685, 3 x 0.0001 = 0.96853 4480,4 x 0.1 = 448.04
4147, 2 x 0.0001 = 0.41472 4133,3 x 0.1 =413.33
5502, 6 x 0.01 = 55.026 1840,2 x 0.01 = 18.402
7127,7 x0.01 = 71.277 5012,9 x 0.01 = 50.129
8639,7 x 0.0001 = 0.86397 6759,9 x0.0001 = 0.67599
3342,9 x 0.1 = 334.29 7664, 9 x 0.001 = 7.6649
7961 x 0.001 = 7.961 6954,2 x 0.01 = 69.542
9890, 1 x 0.01 = 98.901 4461,7 % 0.01 =44.617
3466,2 x 0.0001 = 0.34662 1483,1 x 0.0001 = 0.14831
1572,1 x0.001 = 1.5721 2235,9 x 0.1 = 223.59
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